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4 . 2 M e a n i n g o f b u i l t - i n f u n c t i o n s . A d d i t i o n t o T a b l e 2

a) Numerical functions (i.e. DP, DK, DT, DB) are not worked out as
l o n g a s t h e i r a r g u m e n t s a r e n o t n u m b e r s . T h e y c a n t h e r e f o r e a p p e a r

i n t h e o u t p u t .

Example :ZZ=DK(N,M)*F(N,M) becomes Z=DK(N,M)*F(N,M)
Z Z = D K ( 2 , 3 )

b ) DD(J ,K ) i s a rep lacemen t f unc t i on . A l l t he appea rances i n t he

t e r m o f J o r - J w i l l b e r e p l a c e d b y K o r - K r e s p e c t i v e l y. I f n o

Jis present, the term is unmodified. In both cases, the DD-function
d i s a p p e a r s a f t e r t r y i n g i t s a c t i o n . A D D - f u n c t i o n c a n n e v e r a p p e a r

i n t h e o u t p u t .

Example :ZZ=DD(M,N)
ZZ=F(M,M,-M,-M)*DD(M,N) becomes Z=F(N,N,-N,-N)
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b e c o m e s Z = 0

b e c o m e s Z = 1

I t s p rope r t i es a re suchc ) D ( J , K ) i s a s p e c i a l r e p l a c e m e n t f u n c t i o n ,

t h a t i t a c t s l i k e a K r o n e c k e r d e l t a f u n c t i o n i n t h e c a s e o f E i n s t e i n

T h i s m e a n s t h a t e . g . P S s h o u l d b e c o m e
y y v

s u m m a t i o n c o n v e n t i o n .

Pwhile P^ should be unchanged.
The rules are: (i) D(J,K) has the same action as D(K,J). The

arguments are in te rna l ly o rdered accord ing

t o t h e n a m e l i s t s ;

( i i ) i f both of the indices appear an even number

o f t i m e s i n t h e p a r t o f t h e t e r m t h a t p r e c e d e s

t h e D - f u n c t i o n , t h e n n o a c t i o n i s t a k e n ;

( i i i ) o t h e r w i s e , t h e fi r s t o c c u r r e n c e i n t h e t e r m

o f t h e fi r s t a r g u m e n t i s r e p l a c e d b y t h e s e c o n d

a r g u m e n t .

Example:	 Z Z=F(N,M)*D(M,K)*DEL(M,J) becomes Z=F(N,K)*DEL(M,J)
ZZ=F(N,M)*DEL(M,J)*D(M,K) is unchanged.

NB:	 Such cases do not real ly appear in convent ional spinor

c a l c u l a t i o n s , w h e r e e a c h i n d e x o c c u r s - a t t h e m o s t t w i c e .
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